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X N QUICK NOTE! In lowg Aivisiow, most of the time, we'll
/) ) end up with vemaindevs.
In elementary school you provably notatred vemain-
Aevs with the letter R—Povr exawmple, 7 + 2 = 3 R |—omd 'l use
vemainders heve.
In this Yook, however, you'll leavw to express vemainders as
Practions amd Aecimals.

Sample problem 1:
When you see a problem like 432 + 9 or, equivalently, 9)432, here’s
how you go about solving it:

Remember, 9 is called the divisor (see p. 126 for a tip on how to
remember the name). The divisor is the number that is dividing
into the bigger number, which is called the dividend.
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Let's dividel
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Fivst, let’s see if the
Avisor goes into the fivst
Aigit. Nope, 1 Aoesw’t
Awvide wmto 4, because

4 is smallev thawm 9, so

we cowm just move on

omd check the fivst fwo
Aigits, together.

How mowmy Hmes Aoes 9
90 nto 437 Think about
your Himes tables. And
find the biggest one
that Acesw't get bigger
Hhowm 43,

Souse 9 X 4 =3¢, Be
suve to put the 4 ou top,
Aivectly over the last
Aigit of the number
you Aivided the Alvisor
wmto (n Hhis case, the 4
goes vight over the 3 of
the wumber 43). Thew
subtvact 3¢ Prom Hhe
43 undevneath, omd we
get 7.

Now look at the wext
Aigit i the Aividend—in
this case 2. Dvaww am
avvow Aoww fvom the 2
omd hawe 1t join the 7.

4 +-9=7

9 X 4 =7%¢

9 X S =4S (‘oo
big)

43 — 3¢ =17
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Sample problem 2:

Now ask, “*How mamy tHimes
Aces 9 go nto 727" Our
Hwmes tavles tell us that
9 times § equals 72.

Write the & Aivectly
above, omA wow subtvact
T2 Prom T72.

Theve ave wo wmove
numbers +o Avaw avvows
Brom, amd, n Lact, theve
s no vemainder. We've
Aovne!

9Xg=172
72 —72=20
Answev:

432 +9 =48

Often there will be a remainder, so let’s do a division problem that

has one: 8371 =+ 14, which is equivalent to: 14)8371.

1) 8271

Fivst, let’s see if the

Aivisor goes into the fivst

Aigit. Nope, 14 Aoesn'’t
Awvide into § because §
is smallev thom 14, so we
com move ow omd check
the fvst fwo Aigits,
together.

g+ 14=7
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How mawmy Hmes Aces 14

90 nto 837 Let’s test some

numbers to find out.

Souse |4 X §=70.Be
suve to put Hhe S ow top,
a\ived\y over the last
Aigit of the number you
Aivided the Aivisor into (in
Hhis case, Hhe S goes vight
over the 3 of the number
§3). Then subtvact 70
Lrom the §3 undemeath,
omd we get 3.

Now look at the wext
Aigit i the Alvidend,
W this case 7. Dvaw am
avvow Aown from the 7
omd hawve it joim the 13,

Now ask, “How mawmy Hmes
Aces 14 go nto 1377
Let’s test some numbers
to find out. We'll use

14 X 9= 12¢c.

14 Xs=70
14 X ¢ = g4
(too big)
§—70=13
14 Xg=112
14X 9=12¢
14 X 10= 140

(too big, amA it
should be a single
Algi+

omyway—if |4
Hwmes 10 haad
been swmaller Hhom
137, that woula
wmeom you had
wmade o mistake
eavlier amd should
90 back amd
check your wovk .

(& will always
be a single
digit: 0-9)
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Write the 9 Aivectly
above, omA wow subtvact
12¢ fvom 137 anmd get 1 1.

Now look at tHhe wext
Aigit i the Alvidend—in
this case |. Dvaw am
avvow Aoww from the |
omd have it jom the | 1.

Now ask, “"How mamy tHmes
Aoces 14 gomto | 117" Let's
test some wumbers to
find out.

Souse |4 X7 = 958.

Be suve to put the 7
Aivectly overhead. Thew
subtvact 9§ fvom the

1 undevneath, amd we
get |3,

137 — 12¢ =11

14 X7 =19¢%

14X g=112
(foo \913)
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59 Theve ave wo move Answev: 8371 + |4
H 237 numbers to Avaw avvows =597 R13
A0} Lrom, so Hhe number on

\ the vottom must be our

_l1ab vemainder. Write the
R oamswey, omA then adA
_ 93 “R 13" Lov the vemainder.

13 wWe've done!

Sample Problem 3:
Let’s do one more example, to demonstrate how zeros can pop up in
the middle of long division: 616 + 3.

o First tvy Aividing the 2X2=¢

Avisov, 3, into the fivst

5 b | o Aigit of the Alvidend,
6. How moawmy times Aoes
3 g0 into €7 We'll use
23 X 2 = 6. Make suve
to put the Z Aivectly
over the last Aigit (i
this case, the ouly Aigit)
of tHhe number we've
Alviding nto.

2 Now subtvact ¢ from the 6 —6¢=90
3 0| G ¢ i the Aividend oA
get 0. Dow't pawmic, just
-/E__ keep going as if it weve
(0] amy other number.

2 The next step, as always,
5 610 s to Avaww om avvow £rom
(o

L the wext Aigit i the
— Aividend, amd bring it
O ' Aowm,
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Siuce | s smalley thom 3,
we can’t Aivide 3 into |.
So how mawmy times Aoes
% “90 nto” |7 Nowe. So we
use? X 0 = 0 amd put &
0 up top. It wovks exactly
the same way as with
nonzevo numbpers,

Now Avaww o awvvow Adown
from the next Aigit in
the Avidend, 6, oA
have it join the | to

get |¢.

Now ask, “*How mamy tHimes
Aces? go nto 167" Test
some wumbers.

Sowe use? X § =15,
oamd subtvact |S from
the 1¢, to get 1.

2X0=0

IX 1 =73
(oo big)

IXs=1¢s

3IX 6= 1%
(Yoo big)

¢ —Is=1
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Theve awve wo move Aigits Answev: ¢1¢ + 3
m the Aividend to Avaw = 205 R1
avvows vowm, so the

number on Hhe bottom

must be the remainder.

Write the amswer ama

thew “R 1”7 fov the

vemainder. We've done!
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